- W powered by

Pils COOLING LINE®

SBIE SO —F > FFh—X
/.

Specification

T4k
. TR | HEA o2 BNE T A
material temperature | pressure flow rates min. bending angle
resistance | resistance 1/4” 1/2" 147 12"

Chemical resistance

it 2 fa 4
TEbhy | BE | 7ILa—I/TFIL| EEGE) MR & R #l AV | TU—RE | HE | KT5CUT)
acetone acids alcohol/ethyl base (highly) | detergent on the market | gasoline greases oil water (=75°C)

y ¥ & L]
=

I-TCOL

9=V bK—2R

YIBBFHEDETD
MR EfRBLFET,

Powered by
&ﬂl\ﬂ-ﬂ#f@@&v’mﬁ LinE"

B BN (3 (o) [ = A RN B



Piranha Cooling Line

I \ I
ESZ7O0—02054
The piranha cooling line is a unique and versatile jointed hose system for precise coolant supply. Made of high-
strength anodized aluminium, it withstands pressures of up to 80bar but can also be used at low pressures,
where other cooling lubricant pipes wear prematurely. With our threaded connectors or ball connectors it can
be installed on all common tool holders and CNC machines, manly on turning machines, milling machines,

sawing machines and filling plants. In addition to the cooling lubricant supply, the Cooling Line system is
suitable for blowing out chucks or workpieces and for preheating material during 3D printing.

EZZ77—27 b R—RIEERGAEIC—Z 2 MR T AN I - — U TEEEEGR Y34V MR—XTY,

BRE IV A MUBERELZ 7 IV Z D LBTCT . 8MPak COBEICTHAA T EDN TEX T MHBD T —S > bR—AHFEHA
(CEFRETAEIGENTHERATEETT,

DY — VRIVE—PINCI ¥V Tl R VRE el E R —IVROBGEO TE EITHRB. 751 88 FHHIE. B8, 78 E
BETTI—S7 MR IT TR ESZ7I =S5V MR—RIEF v v IR T—I DU ER T, 3 D) McBIF208
DFRICEBLTNET,

1/8” SYSTEM

Passage ¢ 3. 4mm
Nt—2 63 4mm

Clamping torque 2 — 3Nm
kLY 2 - 3Nm

Threaded connector

"F

TS1/81/8NPT

Threaded connector

#F  1/8"NPT

1S1/81/8G

Threaded connector

#F 1/87G

TS1/81/8R

Threaded connector

#F 1/8"R

TS1/81/4R

Threaded connector

#F 1/4R

TS1/81/4M8

Threaded connector

#F M8

TS1/81/4M8X1

Threaded connector

#EF M8x1

TS1/81/4M10X1

Threaded connector
HEFE M10x1

1/8”7 NPT

1/8” G

1/4” R

M8

M8x1

M10x1

83

Spacer

R—2R

HO1/820

Spacer 20mm
R—X 20mm

HO1/832
Spacer 32. 5mm

R—X 32. 5mm

HO1/845

Spacer 45mm
R—X 45mm




Nozzle Accessories Set

J X)L ToOteHY)— bk

RNO1/81 NT1/8 P

Round nozzle @1mm / Nut SW13 ‘ SEH/S .

S5y R Z)L Blmm 9 Fw k SWI3 : Piranha Coolant Hose 1/8” Starter kit content:

ES=79—3Y k=X 1/8" RE—4—Fv FAR:

RNO1/82 - OR1/8
Round nozzle (2mm / O-ring 1/8” o
59> K/ X)L 02mm b 0>y 1/8" G

RNO1/83. 4 - 6W9/13
Round nozzle 03. 4mm @ Hexagon wrench 1/8” ,\/

S Y R/ X)L 03. 4mm RALVF 1/8” N:;///

RNO1/8MUL
Round nozzle multihole 5 x @1mm / Elbow
S92 K/ X)L ILFHR—IL Olmm x57% I)L7 T —
77777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 L1/890
90° Elbow
SPNO1/860S - 90° T LR
Special nozzle 60° short Q
AR )L/ X)L 60° 53—k
O1mm x77%
SPNO1/860L ~
Special nozzle 60° long -
AR L/ XL 60° OV '
b Ul st GRS A ER LR A%
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" RNOT/81 ol i 2 HO1/845 e 3
SPNO1,/890S "« U = R P e ethew
Special nozzle 90° short '9 RNO1/82 R;ugd;05§;%2clm02mm ! L1/890 Eé(()) Egj)lvzvfﬁ 1
AR L/ X)L 90° Sa— kT T T T e e S
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, A TSR TS1/81/8NPT  reeded sonector 1B T
obNn1 Jarne | Special Nozzle 60° short | . —ato1amo | Thread connector M8 | .
Sooe) msele 9 long @ ON/BS | TXEVE B vamk 2 TSVeUMe e o
ARSI X)L 90° vy Special Nozzle 90° short Threaded connector M8x1
Olnm TR SPNOV/BI0S | 2xswis Z0 90 va—r LA T L
Special Nozzle 60° long Threaded tor M10x1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SPNOT/B60L | zxswnszn 60" vy P TSVBIMNOXT gy T T
Special Nozzle 90° long H h 1/8” 2
SPNOT/BOOL | 2xswns L 907 mvy 2 WL ABLYF 8
Spacer 20mm Nut AF13 5
M0z om Coo s F AFIQ
S 32. 5
HO1/832 e "3 B 3




TS1/4M10 Nozzle
Threaded connector Threaded connector M10 J Z“}L SPNO1,/460L
%&q:_ #®F M0 Special nozzle / 60° long
77777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 RNO1/41.5 AR v/ XL /600 Oy
1S1/41/8NPT ) Round nozzle @1. 5mm g1. 8Smmx 77~
Threaded Sonnector 1/8” NPT TS1/4M10X1 Sy K7 ZL 01, 5m
H#®F 1/8"NT e CV/TER o BB
Threaded connector M10x1  BESEEI
HEF M10xT
RNO1/43.5 FNO1/420MM
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Round nozzle @3. 5mm Fla_t nozzle‘\ZOmm
TS1/41/8G et S92 K/ X)L 03. 5mm 73 ks )L 20mm
;and?c/igsgnnector 1/87 G TS1/4M12X1
" Threaded connector MI12x1  ESNG
HFE - M2x1 LNO1/412
777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 EN01d/44.5| e Dinagonal nozzle short 12x@1mm
ouneanozzTe e omm ZE/ XL Olmmx125%
TSUMI/8R Sy K/ XL 04 5m
Threaded connector 1/8” R
WwE 1/8"R TS1/4R1/86L ENCR
Threaded connector R1/8” G long = = < I =
WF R1/87G o>y LNO1/418
777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 RNO1/45.5 Dinagonal nozzle long 18x@1mm
777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 Round nozzle 05. 5mm Z2mE/ X)L B1lmmx18y%
TS1/41/4NPT S 2 K/ X)L 05 5mm
Threaded connector 1/4” NPT [ B~ . |
WE  1/4”NPT Threaded connector 3/8” G
with reduction to 1/4”7 system (AN =<0z SPNO1,/41260S
¥ 3/8” RNO1/4MUL Special nozzle / 60° short
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Round nozzle multihole 7x@1. 5mm ARSI X/ 60° 33—k
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' S92k X)L RILFHR—IL
TS1/41/4G TS1/41/8R 01. 5mmx75%
Threaded connector 1/4” G Threaded connector 3/8° R = EBHXaA 4 . BRSO S . __..c<4iii OO
MF 1/476G with reduction to 1/4” system
#F 3/8"R RNO1/43/2 SPNO.1/41260L
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Round nozzle multihole ifiial nsz/zl; i ?OGOJOT:?‘ b
SHY R RN TILFR—IL < / -
TS1/41/4R TS1/41/2 02mm x37%
Threaded connector 1/4” R Threaded connector 1/2 (S = T
#MF 1/4” R e SPNO1/41460$
RNO1/44/1.5 Special nozzle / 90° long
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, TS1/4BR Round nozzle multihole ARy XL /90 BvY
SYU R/ R RLFR—I AR—ILEOT4mmxTR
TS1/41/4RL Threaded connector blank 01, 5mm x4
Threaded connector 1/4 long #F R1/876 TS24 ' Lo
#®FE 1/4R” Doy SPNO1/41460L
Spacer SPNO1/4908 Special nozzle / 60° short
Special nozzle / 90° short AR )L/ X)L/ 60° a—F
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" ’_I_‘_Z ARV )L/ AL/ 90° va—+h AR—JLEDO14mmx 77T
TS1/4M8 HO1,/428 o1 BT
Threaded connector M8 Spacer 28mm U
HF M8 HR—Z 28mm RPNO1/414
777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 SPNO1/490L Round nozzlg / Multiholes
Special nozzle / 90° long SOV KR XILTILFHR—IL
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, HO1/443 A Lf o
Spac/er . ZRUR LI R ) 90° OuH R—ILEO14mmx 7 7%
TS1/4M8L R—Z 43mm @1. 8mmx 7y
Threaded connector M8 long = S 0Nl  ESEE
wFE M Oors S RPNO1/415
SPNO1/460S Round nozzle / Multiholes
HO1/470 Special nozzle / 60° short SHU R ZLTILFHR—I
Spacer 70mm AR v/ AL/ 60° a—b R—)LZO15mmx 7R
m—2Z 70mm 01. 8mmx77%




1/44 > F 1/44 > F

SPNO1,/41560S

Special nozzle / 60° short
AR Y/ XL/ 60° a—+
R—)LZ015mmx 7%

T7OtT)— Set
Accessor ies vk
NT1/4

Nut SW16x7
F v b SW16x7

SET1/4

Piranha Coolant Hose Starter kit content:
ES=75—5>2 rHR—R 1/47 RA—4—F%vy FAR:

SPNO1,/41560L
Special nozzle / 60° long
AR/ X)L /600 Oy

AR—ILZB15mmx TN oP1/4
Cap SW16

Di§tributor . ‘ Xy T 1/47G SW16

oaArkN)LTD

L1/490 OR1/4

90° Elbow 0-ring 1/4”

0>y 1/47G

90° TJ)LAR 1/47G

3G1/4

Quatro distribution block 6W11/16
=AY ARE Hexagon wrench
234 bTOyy 1/476 NALVUF

2T1/4
T-distributor Conversion socket
- alj: O »
SHTHARDS a4 b 1476 TRITSY
HT1/4NPTPT >
777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 Conversion socket NPT1/4 to PT1/4 ‘,.f
ZHMTF PT1/4(51) x NPT1/4 () ~%
21/4 o AN M SUS304
distributor , I Box size: 210L x 150M x 40H mm
SAYERARD a4 /46 Al Fashik: 2101 x 150 x 40H mm
HT1/8NPTPT
Conversion socket NPT1/8 to PT1/8 A 5t =] * F = =) #
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ZHMETE PT1/8(50) x NPT1/8 (/) “;m) - Rk AS 2 Fifn & A
RE ! Spacer 28mm Round nozzle multihole 7x@1.5mm
BV1/4 B Ho1/428 R—2Z 28mm ’ RNOT/AMUL 5o )2 wnsdn 01 5% 7% 1
e A e Spacer 43m | . comad/aane | Special nozzle 01.8/60° short | ,
ij‘" :a"’f;]“ e H01/443 R—2Z 43mm ’ SPNOT/460S 2750 o )L) XL 01.8/60° Sa—r ]
2 \ / T T
s / Customized products HO1/470 Spacer 708m ; SPNO1/460L  Soecial nozzle 01.6/60° fon 1
=2, = ~— S g /60° S5
=& ES T :; ,,,,, jd“"m ,,,,,, e ANTXIL/ R 01.8/60° BT |
readed connector 1/ Special nozzle 01.8/90° short
Can be produced by request TS1/41/46 WMF 1/47 G 1 SPNO1/490S AR ¥/ XL 01.8/90° & 3—Fk !
CHREOEmREREERLEY. | Threaded connector 1/4” NPT| . apmed /aant | Special nozzle 01.8/90° long | .
TSUAUANT gz e wer L SPHOTASOL | Zxs e sz oroe mvy | '
Threaded connector 1/8” NPT Nuts SW16x7mm
\‘ TS1/41/8NPT W=E 1/8”7 NPT 1 NT1/4 F v & SW16x7mm ’
¥ Threaded connector MOXT | . 14 a0n | 9° Elbow |
.‘::'.;. TS1/4M10X1 @ N10x1 1 L1/490 90° T LA 1
“. """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""
i Threaded connector M12x1 Y-distributor
TSIANZA | g i 1 21/ SHVERF ST a1k ‘
Round nozzle (3. 5mm Hexagon wrench SW11/SW16
RNOT/43.5 S o) 200 03 om ‘ BWI1/16 | Sm o7 suii/shis ’
Round nozzle (4. 5mm
RNO1/44.5 S5y R/ Z)L 94 5mm 1




Threaded connector

"F

TS1/23/8NPT

Threaded connector 3/8” NPT
HF  3/8” NPT

TS1/23/8G
Threaded connector 3/8” G

#F 3/87G

TS1/23/8R
Threaded connector 3/8” R

#F 3/8" R

TS1/21/2NPT
Threaded connector 1/2” NPT

#F 1/27 NPT

TS1/21/2G
Threaded connector 1/2” G

#wF 1/27G

TS1/21/2R
Threaded connector 1/2” R

#F 1/27R

TS1/2BR
Threaded connector 024mm

HEF 024mm 1/27 R

TS1/43/8
Threaded connector 3/8” G
with reduction to 1/4” system

e+ 3/8

TS1/43/8R

Threaded connector 3/8” R
with reduction to 1/4” system

#F 3/8” R

TS1/23/4
Threaded connector 3/4” G
MF 3/4

Spacer
R—R

HO1/238
Spacer 38mm

AR—X 38mm

HO1/246. 5
Spacer 46. 5mm

R—XR 46. 5mm

HO01/263. 5
Spacer 63. 5mm

R—XR 63. 5mm

HO1/280
Spacer 80mm

R—R 80mm

A

A

Nozzle

J X)L
RNO1/26
Round nozzle @6mm

Sy K/ X)L 06mm

Z

RNO1/28

Round nozzle 08mm
592 K/ X)L 08mm
RNO1/210

Round nozzle 010mm
52 K/ X)L 010mm
RNO1,/210MUL

Round nozzle @10mm multihole 19x@2mm
Sy R/ X)L 010mm < J)LFHR—IL
02mmx197%

L

SPNO1/2MUL60S
Special nozzle multihole / 60° short

AR YL/ X)L TILFHR—IL 60° >3—F
02. 5mmx77%

SPNO1/2MUL60L
Special nozzle multihole / 60° long

ARSI/ X)L TILFHR—IL 60° Oy
02. Smmx 7y

®

%

SPNO1/2MUL90S

Special nozzle multihole / 90° short

AR ¥/ X)L JILFHR—IL 90° & 3— b
02. 5mmx7y%

e

SPNO1/2MUL90L

Special nozzle multihole / 90° long
AR/ X)L TIILFHR—IL 90° AY
@2. 5mm x77%

LNO1/216

Diagonal nozzle short 16x02mm ‘
2@/ X)La—+k

02mmx167%

LNO1/224

Diagonal nozzle short 24x@2mm
ZmEm/ X)avy

@2mm x247%

%

Distributor
oaA 2 kN)LD

L1/290
90° Elbow
90° TJ)LA 1/276G

211/2
T-distributor

ZATENRDDaA U~ 1/276

M/21/26
Y-distributor
ZAHYBRARDS D342+ 1/27G

M1/21/4G
Y-distributor

ZAHYRENRD D3k 1/276-1/

Accessories
oY~

NT1/2
Nut SW27x10.5

+ v kb SW27x10.5

CP1/2
Cap SW27
Xy 7 SW27

OR1/2
0-ring 1/2”
0y >4 1/276G

6W21/27 ”~
Hexagon wrench

RNALUTF

BV1/2
Ball valve 1/2”
R—ILsNILT1/27

CHO1/2
Check valve

FxwoNLT1/2"

BA12
Check valve

R7 75 T8—12

BA13
Check valve

R77HTH—13

BA14
Check valve

K77 HTH—14

BA15
Check valve
R7T7HETHR—15

Flat nozzle

22v /X)L
FNO1/235

Flat nozzle 35

725w k/ X)L 35

J X)LEK66mm 02 / XILIE35

FNO1/245
Flat nozzle 45

725w k/ X)L 45
J RI)LEE66mm 702 / X)Ligd

FNO1/255
Flat nozzle 55

7225w k/ X)L 55
J X)ILEKE66mm 7302 / X)L1E55

FNO1/265
Flat nozzle 65

725y k/ X)L 65
J XZ)LEK66mm 02 / XILIE65

FNO1/285
Flat nozzle 85

725y k/ X)L 85
J X)L&K66mm 7102 / X JLIE85

FNO1/2105

Flat nozzle 105
725w k/ X)L 105

7 X)LeK66mm 502 / XJLIE105

Conversion socket

EMTS5

HT3/8NPTPT N
Conversion socket NPT3/8 to PT3/8 fdgs e
THMF PT3/8(54)x NPT3/8 (1) ‘m,
#'&E SUS304

HT1/2NPTPT Pravs o

Conversion socket NPT1/2 to PT1/2 *4¢€F -
ZHBMF PT1/2(50) x NPT1/2 () ~W
#ME SUS304 P



Ball Connector

Set R— 3 —
By k | 2 e S

BC1/810

Ball socket connector @10mm
SET]/Z . AR—jLaxy 42— 20mn
Piranha Coolant Hose Starter kit content: 1REE1) > 4 010mmft =
ES=79—5>rHr—X 1/27 RE3—2—Fv FAR:

BC1/812

Ball socket connector @12mm
R—J)Laxs 22— 20mm
REE) 2501 2mmet =

BC1/412

Ball socket connector @12mm
AR—ILa xR 2— 28mm
REE) > 5 012mmet =

BC1/414

Bal| socket connector 014mm

R—ILaRY 2 — 28mm
REE) o5 014mm{t &

BC1/415
Ball socket connector @15mm

R—ILaxrs 2 — 28mm
{REE) > 5 015mmet =

Box size: 350L x 220W x 40H mm CR12

*E#;ﬁ 350L x 220W x 40H mm Clamping I’ing Q]me

/47 Z)VERRE) VYT

A Emd A Btk P A
Round nozzle @ 6 mm 00° ElDOW
RNO1/26 SYRJZ)IL 06 m ‘ L1/290 90° T)LA ] ~
worzs | Romdnoieasm | o T o . CR12.5 ~ Ty bZEFERLGL
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, J9vF/ANe8m o VT k=R 85m Clamping ring 012. 5m S P S
RNO1/2]O Round noz\z|e g 10 mm : HO‘]/280 Spacer 4 1/’4/ XM/}EH1%E§ 1 ~/7 ‘ ‘ ,—I—\ )b 9 4 7 0) : * 7 9 —C -d-
592K/ X)L o 10 mm AR—2Z  80mm &
""""""""""""""""" Round nozzle multihole 19x¢2mm | . tet e om | Threaded connector 1/2” 6 | . L - — X
e A o I 6 o 2 Y (2355 4 —HAD
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr = TR s s
Special nozzle multihole/60° short Threaded connector 1/2” NPT _|J: / 75\ O l/\ —C l/\
SPNOT/ZMUL60S "o ) 20 < nshnbo va—p T81/21/2NPT #WF 1/27 NPT ’ CR14 i\ 17,% % BH -d_ %) ) 7 35 -d_
""""""""""""""""" Special nozzle multihole/90° short | , et mmion | Threaded connector 3/8” 6 | . Clamping ring @14mm . N N
SPNOUACLSOS 2svnszn wnrdonso va=r| 1 RGO S T L 1/4) ALRRIE) 5 * ‘ RERI IR/ ANZEZTDFEF
Special nozzle multihole/60° long Threaded connector 3/8” NPT - —
SPUOV/ZWL0L |50 enrtonay vy | L SZ/MRT | e e e L WY BRICEEZ
Special nozzle multihole/90° long Hexagon wench SRIL/S7 o S
SPNO1/2MULOOL | 2 vnsxn <nssi—nao ooy || oW2/121 AELUF SI21/SH2] ’ CRI5 HENDOLET
NT1/2 NUtf 3W27é‘}vg-75;(1m(')” : 5 Clamping ring @15mm / \
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Fv bk SWX0.5m ) " 1/4) ZIVERE Y © 5 .
Spacer L

H01/246. 5 R—2Z  46.5mm ¢




ty bk 1/44 20F ty bk 1/44 20F

1/4 coolant hose set
1/ X714 £y k
1/4-1/4PT SET

1/4-1/4G SET _
w 20 o* oy D 2 S
TS1/41/4NPT TS1/41/46
RNOT/41.5 A A pe /& RNOT/41. 5 A S ,i
¥ ¥ & ¥ ¥ &
RNO1/45. 5 RNO1/45. 5
A 5 A
HO1/428 - P < Ho1/428 - ¥ &
) <l & v R <l &
HO1/443 Ho1/443
4 d
£ e <
HO1/470 / HO1/470 E /
/ V.,
N A Eemm S
NT1/4 0K NT1/4 g o=
HT1/4NPTPT
1/4-1/8PT SET 1/4-1/8G SET
\ & - \ 4 -
l.ﬁil‘, » - ~ ol
TS1/41/8NPT  ad TS1/41/86 .W  d. "
RNO1/41.5 - o RNO1/41.5 - o
It & X e* & D 2
RNO1/45. 5 RNO1/45. 5
HO1/428 ' Ho1/428
A 4 . A 4
4}; = !\ﬁaﬂ// fﬁ; =
HO1/443 Ho1/443
HO1/470 Y e | | HO1/470 "
/
NT1/4 NT1/4 p
/ / g o

HT1/8NPTPT




Tty b 124 0F

Tty b 124 0F

1/2 coolant hose set

1/2 OXTL £y b

HT1/2NPTPT

1/2-3/8PT SET \ A2 ” 1/2-3/86 SET Y P, 2
w & & w @25 &
TS1/23/8NPT 1S1/23/86
RNO1/26 @ 3 % Z /& % /a RNO1/26 @ 5. % - § % /a
RNO1/210 RNO1/210
HO1/246. 5 / M HO1/246. 5 /N
/Q s D
HO1/263. 5 N HO1/263. 5 W
HO1/280 \\‘\-::\ HO1/280 . \\‘\-::\
/)'h # /'h
NT1/2 NT1/2
HT3/8NPTPT
1/2-1/2PT SET ) 1/2-1/2G SET
e - Q_\\b W .
N ) ' / L )R | '
TS1/21/2NPT ) \//- ’ TS1/21/26 j ‘//. ‘/
RNO1/26 3 .. /ﬂ. RNO1/26 /ﬂ.
P & 8 Y W
RNO1/210 RNO1/210
HO1/246. 5 : HO1/246. 5
":4é3 \éal/ fééa
H01/263. 5 ) _ H01/263.5 - _
o 2 g
HO1/280 e HO1/280 =P
& &
NT1/2 NT1/2



